Math 270 - Basic Discrete Mathematics
Practice Quiz on Section 8.2
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Directions: Answer the problems given below.

1. Let A=1{1,2,3,4,5,6}. Draw the directed graph for a relation R on A which is reflexive
and symmetric but not transitive. (You only have to draw the directed graph for such a
relation.)
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2. Let S be the relation on Z defined as follows:

Forall z,y € Z, 2SSy & x <y — 1.

In a.-.c. circle the correct response (Yes or No). W

a. Is S reflexive? Yes @ %K‘\’ Es’ XM Olr(k
/7
b. Is S symmetric? Yes @ Q. O g o) {:s O % -1
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